1. Question: (AMFIT FATBIT® RIS ‘HOLS (1 HJ(F IoA1?

A) SreTSEAT
B) TSayIy
C) 963

D) o9

Answer: B) S ais
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B) fEr@sy fazes
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Answer: B) 3@ fEes

Explanation: - *T5F T2 395 N (&Y 6N SR TR FAIfIE S @ | - o7
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3. Question: "FNF FE@F 51T *EF 2@’ - STHAGF T5FeT (F7?
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B) TIH [15T
C) =5l 112
D) =1eel MR

Answer: A) FINTI Wa
Explanation: 918 NG e *N% $993 ST fA1R0E (ST 2o S Ssizel FE | ©F STy

935 M(© ©TF S FIEIT (ST FANFNTAN | FSf AT GESTH IS ST To1] FEA | FIOAT
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4. Question: 'J4T 8 A" SHAHF Tofol (F?



A) T8 IR S
B) ST Ho™
C) 9w e

D) 293« 7
Answer: A) FT8T TG 397

Explanation: 23 3= Abw® SANIT- ‘4l 3 TAT (58¢)| 2 THTNIH ToGN© TR SR AefTF
ST | 7S] BT SF AT A1 R 3| O SIAEF Foa (374 FE2 AA6© TF® ‘dqar 3 JIA
SAANCTT FIRA| - YA FIIF [T 2@ AR “5@asr G ST wel] F | O SISO FI7 - -
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5. Question: (FTAG FIUAN SIFEI FIITTE?

A) (oo
B) ¢RIy
C) CTIHAT
D) CTTRT

Answer: A) o

Explanation: FWAN SIFF (S Ud-528%): - 'CTAEAT (58%) AU FFEF Y3 79 T30 7
FIIHTE| TGN SFET FF0 FIHTE (N6 ¢ L5 |

6. Question: Gla3%, fIad ‘Fie-asfer MEF S (FRT (A TP 27?

A) FAFTST

B) s

C) aSe

D) orer

Answer: D) BT (Dhaka)

Explanation: F58 NERIGH NS ASCIF TES e ST G733 AT F6© A6 ate-usfer
b, FFITE 8 HPT T Sy yo WET| - FeT-wstel B FIRAT (NRATF AP, Ay 11T

AFFFFE aft oo FEA| -

7. Question: FIS ST IV “AfA-IT FAIF TAN FfJ©T (FAG?

A) ST
B) (It



C) Azt
D) o= >

Answer: A) 3ISIaT

Explanation: SIfSale SifFe ©T: FIS FGF ITNET TNT FITFIET| S0 INEF FIM6F TT
(AMB1RF, S22 o) JF1re 3| o FfFeT: FTIEN (N6 @ FFel AR |

8. Question: (FAH SHAGHAET T6aAT?

A) ST frTE F7

B) e I ST

C) SIS STG TN

D) S1I3FIGT anfdar

Answer: A) ST fTE IJ

Explanation: ST SIS HI HETSH (SelTd OIS NG ©fF AR FEA| * ©FF
ST T (TRPAT SIS w1 (T 23 fofr e waia e A e

9. Question: F© ST ‘(NHAMIY FIIT TYH TFI1© 27?2

A) S Yo

B) Sy

C) yBad

D) SBYY

Answer: C) Y@

Explanation: IR SRTH S NF FRIFTT AT TG '(NHAIY F1RT| - afF TF10 77 v ud
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10. Question: ‘AT AFE T (3 fRET?
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D) ST&7 SeIer
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Explanation: sEITT AT W= o 153 86| a6 Fien (3@ 52w g31re Hfas| - a7
TFPIFI e S0 1|

11. Question: (& (W16 S2FTID FEOH 5P fRETa?
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Svoo NI AfSfde BT 936 afFSa Fw | FEE T FrEdma FEy S [F37e e
AT F, SIfFAeAT g 8 Jgray RmeEsE| -
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Answer: A) @3 5
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13. Question: A (ST [T AT FNFT 9HT0-

A) TS

B) (RIGsTg

C) 7<=

D) STeam™ A6F

Answer: A) ST

Explanation: S5 (51§31 ST (TR 'The Taming of The Shrew' AGEE Fe[ITW FE
ST FNAT FASIT A | - OTF AT 6 AeIW A6P- '(FS 5% Ie® M A7 3 F1F (FT'| - ©FF
Ffbe (N a6 337, ftf, o1 owme, meFEen|




14. Question: ‘ATIT (@ (T THATN?

A) I 3RS

B) S[AleT STG AT
C) =y 7
D) = (1At

Answer: A) 919 3215
Explanation: IR 51w bfeTe Fifox 536F 8 Amsmerd o1 2E T (BT - 291y (BIgSA

MRS o™ T | - 'THIET TTOT (STF6! AFF FFTT - Do),  STHY/ITF ToaF fefey T4
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15. Question: (FT &6 B& I (T AR ?

A) TS

B) ©aa
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Answer: B) 939

Explanation: fagsi (fAemy): foaft ST a1y (Afge (T (Fa | S H0STE BHa=T: - eIy = 15 -
o = T - QA = @I

16. Question: (FAL® FTAITST TGR?

A) BFRf0R

B) frfean

C) ¢shiafae

D) a%fa®

Answer: B) ffsar

Explanation: 4%fa® *f6d o1 ATTF S0 8T | B T - 9Fal 9Fa, A6 (SATAFTH)
(31F5), (ReTer) Sore; forfere; sffere |

17. Question: IR ST TFIT© (NTF IIH FIG?



A) ssf6
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C) uft
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Answer: B) vf6
Explanation: IRAT ST (Nfe1F IR 9ft | 727 =1, 30, 3, T, 4, 8, 71 IR SN (NforF IR/
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D) gf®
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19. Question: “Null and Void" a3 3T *fFeE] (FH6?

A) frgers
B) sTeT/awel

C) SRy
D) Tifee
Answer: D) F1fee (Null and Void a7 IRAT AfFeRT 26T Afe)

Explanation: IR AFTEH ST o “Null and Void” a7 Fie e 'Tifee |

20. Question: (FAMG BF JAA?

A) TR
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C) ST
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Answer: A) JIIFTHA

Explanation: TSN (fRTCMT): 31 - TS FF | (TS + <)

21. Question: “fify” @ Gfdg =2
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Answer: A) (af¥
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Explanation: S35 I8! fAe{&7 (3, 97) (7157 T (T S 2T, ©FF T8I ©TFF S | I

CTAS = ToACNAS D! 0% 7T TN | AF3 fF% TRAer: SIFF JI5T = BRI ASF 3 = ASa
CATE TG = (AT ATMG1S, "ENAS , (07, faferss, [RoremEr 2emv|

24. Question: “s)” R WARF < (FIAMG 2
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A) ST} + TS
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36. Question: The plural form of the word "louse"?
A) louses

B) licess

C) lices

D) lice

Answer: D) lice

Explanation: Louse - (Plural Lice) a small insect that lives on the bodies of animals and people

37. Question: Choose the correct sentence?



A) He refrained to take any drastic action

B) He refrained to taking any drastic action
C) He refrained i taking any drastic actions
D) He refrained from taking any drastic action

Answer: D) He refrained from taking any drastic action

Explanation: Refrain from doing a2 fa@e N7 IS refrain- 9 51T preposition from ITT 4T3
ST gerund (verb + ing) I| 3% TaF - H) He refrained from taking any drastic action

38. Question: Which word is closest in meaning to "Franchise"?

A) ttility

B) frankness
C) superficial
D) privilege

Answer: D) privilege

Explanation: Privilege - A% S8R, A0 5{{3%1 91 SIf&F171 Franchise - 7 F1sifa@ w133,
(OB JoaR a2 9f6 < TN |

39. Question: Once in a Blue Moon means ---

A) always
B) hourly
C) nearly
D) very rarely

Answer: D) very rarely

Explanation: Once in a blue moon' 31 FWI63 AT very rarely a1%3 9SS | So, 'Once in a blue
moon' means - very rarely.

40. Question: Jacobean Period of English Literature refers to ---

A) 1558-1603
B) 1625-1649
C) 1649-1660
D) 1603-1625



Answer: A) 1558-1603

Explanation: The Jacobean Period belongs to “‘The Renaissance Period’. The Renaissance
Period (1500-1660) is divided into 4 shorter Periods. Such as- - Elizabethan Period
(1558-1603), - Jacobean Period (1603-1625), - Caroline Period (1625-1649) and -
Commonwealth Period (1649-1660).

41. Question: A retired officer lives next door. Here "retired"” word is used as a/an :

A) Gerund

B) adverb

C) preposition
D) participle

Answer: D) participle

Explanation: Particple : verb + ing If% adjective/verb a7 151 $@& (verbal adjective). 93T retired
{6 'officer' noun (F AfEH1R FaC%; ©12 afb Particple.

42. Question: Choose the appropriate preposition in the blank of the following sentence :
Eight men were concerned the plot.

A) at
B) with
C) for
D)in

Answer: B) with

Explanation: Concerned for/about - a worried or nervous feeling about something. IRaT 372 =
@1 {5 =1 Ofag 2837

43. Question: Fill in the gap with the right tense : When water it turns into ice.

A) will freeze

B) froze

C) would freeze

D) freezes

Answer: D) freezes



Explanation: When 7191 I& {6 clause-a7 result clause fG present indefinite tense-a 2, when
clause &8 present indefinite tense @ | WwAT, [T freezes |

44. Question: Which one is the correct antonym of "frugal™?

A) Extraordinary
B) authentic

C) economical
D) spendthrift

Answer: D) spendthrift

Explanation: Frugal - sparing or economical as regards money or food; e |

45. Question: Choose the meaning of the idiom --- "Take the bull by the horns."

A) Surrender before the enemy

B) Force the enemy to submit

C) Out of one's wit

D) To challenge the enemy with courage

Answer: D) To challenge the enemy with courage

Explanation: According to the Oxford Dictionary, Take the bull by the horns = Deal bravely and
decisively with a difficult, dangerous, or unpleasant situation/ To challenge the enemy with
courage. Idiom 53 IR I - TECIF SN & (NFNIT FAT|

46. Question: Fill in the blank with the correct quantifier. | still have money.

A) a few
B) quite a few
C) many
D) a little

Answer: D) a little
Explanation: 3ig $@3f6 9% countable noun 98 & a few I0T 432 g A% JT S5 SITer o1

uncountable noun a5 % a little F0T1 a few 37 a littlle TSFF AR IR some (T FEFIG T I
STRT) |



47. Question: Select the right compound structure of the sentence : "Though he is poor,
he is honest"

A) He is poor and honest

B) As he is poor, he is honest
C) Since he is poor, he is honest
D) He is poor but honest

Answer: D) He is poor but honest

Explanation: Complex sentence 4 though/although ¥1&© compound sentence 4 but AT&F | 12
Sf8F Ta4 - 1) He is poor but honest

48. Question: Where do the following lines occur in? "Alone, alone, all, all alone, Alone
on a wide sea ...... "

A) The Dungeon

B) Kubla Khan

C) The Nightingle

D) The Rime of the Ancient Mariner

Answer: D) The Rime of the Ancient Mariner

Explanation: « The poem 'The Rime of the Ancient Mariner' is written by Samuel Taylor
Coleridge. * The important character of this poem is The Mariner, Wedding Guest, Albatross,
The Nightmare, Life in Death

49. Question: For God's sake hold your tongue, and let me love. This line is written by

A) Emily Dickinson
B) T.S Eliot

C) Mathew Arnold
D) John Donne

Answer: D) John Donne

Explanation: John Donne (& 'Poet of Love and Religious' 7 37| f2Te $@SH FfeT: - Good
Morrow, - The Sun Rising, - The Canonization, - Twicknam Garden etc

50. Question: Fill in the blank : Tourists their reservations well in advance if they



want to fly to Cox's Bazar.

A) better to had get
B) had better to get
C) had better got
D) had better get

Answer: D) had better get

Explanation: 93T had better get 5| (F41, a9 (T verb a7 base form | A7 Option STNF
17 verb a7 base form a5 N3 ST 7 77|

51. Question: The sun went down. The "down" word is used here as a/an :

A) preposition

B) conjuction

C) noun

D) adverb

Answer: D) adverb

Explanation: (X word (19 noun [T pronoun RTST I (T (F1 parts of speech (F modify F(F O
adverb J| underlined word ‘down’ A& verb went (F modify F@E®, 12 aft adverb.

52. Question: ldentify the right passive voice of "It is impossible to do this".

A) Doing this is impossible

B) This is impossible to be done

C) This is must be done

D) This can't be done

Answer: A) Doing this is impossible

Explanation: « 92 T I passive voice-17 (F@ N 43 I1321F F1 27 41| - AE aFF
T[fGTN fFAW passive voice FI® | « A6T ST fIETE Passive Voice Faw@ @1 - This is
impossible to be done. S J@ 218 AOF 97| - FTA fFFMGIT Adjective (Impossible) a7 5
Passive Form a @ infinitive to 07T 7| - ©12 9% S84 @ - This can't be done.

53. Question: Of the following authors, who wrote an epic?

A) William Shakespeare



B) Jane Mansfield
C) William Cowper
D) John Milton

Answer: D) John Milton

Explanation: ohn Milton is called Epic Poet. He is also called 'A great master of verse in Puritan
Period'. - His famous epics are: Paradise Lost and Paradise Regained. - 'Lycidas' is a famous
Elegy written by John Milton.

54. Question: The literary term "euphemism” means-

A) vague idea

B) wise saying

C) a sonnet

D) in offensive expression

Answer: D) an offensive expression

Explanation: Euphemism - a word or phrase used to avoid saying an unpleasant or offensive
word. T o7 - SO - "Senior citizen" is a euphemism for "old person".The phrase “left to
pursue other interests” is a euphemism for “fired.”

55. Question: Mutton is a/an-

A) Common noun

B) Abstract noun

C) Proper noun

D) Materiel noun

Answer: A) Common noun

Explanation: (& Noun F13T (I IF AT W& AT FE@ ©&F Material noun ¢TI

56. Question: Reading is an excellent habit, Here, the "Reading" word is a -----

A) Verbal noun
B) Praticiple
C) Verb

D) Greund



Answer: A) Verbal noun

Explanation: Verb a3 {1 ing (ST TF I noun 9T F18 I IS Verb 8 noun 97 1 F&, ©RE
WI@ Gerund | ECT: Gerund = Verb + ing = noun = Verb + noun Gerund B8 %5 91731 91
FIS (IR |

57. Question: Which one of the following words is an example of a distributive pronoun?

A) such
B) any
C) that
D) either

Answer: D) either
Explanation: Pronoun 3G S&18 | ©1F & SEETST %6 2% - Distributive Pronoun. Distributive

Pronoun: (I I& pronoun 42 I oREF J3f& 1 I MOIF@ PAFSNE T 8@ Distributive
Pronoun |

58. Question: Who is not a Victorian poet?

A) Mathew Arnold

B) Alfred Tennyson
C) Robert Browning
D) Alexander Pope

Answer: D) Alexander Pope
Explanation: - Alexander Pope is a poet of the Augustan Period. - His famous Epic is 'The

Rape of the Lock'. - Important characters of this Epic: *« Baron (Hero), * Belinda (Heroine), « Arial
(God) etc.

59. Question: A speech of too many words is called---

A) A big speech

B) Maiden speech

C) An unimportant speeech
D) A verbose speech

Answer: D) A verbose speech



Explanation: - A verbose speech means 'containing more words than necessary'. - The speech
that contains more words is called a verbose speech.

60. Question: "Strike while the iron is hot" is an example of ----

A) Noun clause

B) Adjective clause

C) Subordinate clause
D) Adverbial clause

Answer: D) Adverbial clause

Explanation: af adverbial clause 95 Wz adverbial clause STHTE® complex sentence a5
verb, adjective T adverb (¥ modify g, IR adverb 97 o I FE|

61. Question: The play "The Spanish Tragedy" is written by----

A) Ben Jonson

B) Christopher Marlowe
C) Shakespeare

D) Thomas Kyd

Answer: D) Thomas Kyd

Explanation: The English dramatist Thomas Kyd (1558-1594) is best known for "The Spanish
Tragedy," a play that was a great popular success and did much to influence the course of
English tragedy of the late Renaissance.

62. Question: Who among the following Indian English writers is a famous novelist?

A) Gayatri Chakravorty Spivak
B) Kamala Das

C) Nissim Ezekiel

D) R.K. Narayan

Answer: D) R.K. Narayan
Explanation: R.K. Narayan, in full Rasipuram Krishnaswami Narayan, original name Rasipuram

Krishnaswami Narayanswami, one of the finest Indian authors (novelist) of his generation
writing in English.



63. Question: The word "Panegyric" means

A) Criticism

B) high sound

C) curse

D) elaborate praise

Answer: D) elaborate praise

Explanation: Panegyric - A public speech or published text in praise of someone or something.
SYNONYMS: Eulogy, speech of praise, paean, accolade, tribute, testimonial, commendation,
acclamation.

64. Question: Select the correctly spelt word :

A) hetroganeous
B) hetarogeneous
C) hetrogeneous
D) heterogeneous

Answer: D) heterogeneous

Explanation: Heterogenous (adj): Meaning: made up of different kinds Bengali Meaning: fafed
ST s1f9@ Synonym: diverse, varied, miscellaneous, motley, wide-ranging, Antonym:
homogenous, unvaried, unvarying

65. Question: Which period is known as "The golden age of English literature ?

A) The Victorian age

B) The Eighteenth Century

C) The Restoration age

D) The Elizabethan age

Answer: D) The Elizabethan age

Explanation: Duration of Elizabethan Period is 1558 to 1603. This period is called the Golden

age of English literature/Golden Period of English Drama/A nest of singing birds.

66. Question: Which one in the correct indirect narration? "Why have you beaten my
dog?" he said to me.



A) He demanded me why had | beaten his dog
B) He asked me why | have had beaten his dog
C) He enquired me why had | had beaten his dog
D) He demanded of me why | had beaten his dog

Answer: D) He demanded of me why | had beaten his dog

Explanation: F1#5 T141 76 ©1F &1 F471 (FR1TR| 3 demand of somebody 3% FTEE 76
B BT F411 B2 dF B8 - H) He demanded of me why | had beaten his dog

67. Question: Who is the author of "Man and Superman™?

A) Charles Dickens
B) Thomas Hardy

C) Ernest hemingway
D) G.B. Shaw

Answer: D) G.B. Shaw (George Bernard Shaw)

Explanation: Man and Superman, play in four acts by George Bernard Shaw, published in
1903.

68. Question: The most famous satirist in English literature is ---

A) Richard Steel
B) Alexander Popy
C) Joseph Addison
D) Jonathan Swift

Answer: D) Jonathan Swift

Explanation: Jonathan Swift, pseudonym Isaac Bickerstaff, (born Nov. 30, 1667, Dublin,
Ire.—died Oct. 19, 1745, Dublin), Anglo-Irish author, who was the foremost prose satirist in the
English language. Besides the celebrated novel Gulliver’s Travels (1726), he wrote such shorter
works as A Tale of a Tub (1704) and “A Modest Proposal” (1729).

69. Question: Among is a preposition that is used when people are involved.

A) two
B) four only



C) two or more than two
D) more than two

Answer: C) two or more than two

Explanation: 734 &Y 557 (JIAC® - between 932 A AN@H (F@ among TATS 27|

70. Question: The novelist has a hold of in writing.

A) manner
B) history
C) tradition
D) style

Answer: D) style

Explanation: (T J57205T (15T 27|

71. Question: 4 T (XTI 3 6 T JFEH FLT (VF 4 TPHATE 9F6 SA-FHRTG SIS FC© T TM©
1 59 fAf9E T TR SAf%e NFA| Fo TFE P FHIM6 559 FT (J© TE?

A) 210
B) 304
C) 120
D) 84

Answer: C) 120

Explanation: (T®g b 34 T TR S AHE B ¢+8 = Tl (A © 5usfy A8 FfA6 5191
FATINT = 9¢3 = 84

72. Question: BIFT 56 AET fTHT FIT 12% FfS 371 10% TS FA0© TG G1FFT FI0 [[FTHT
FH0© 3Q@?

A) (FIETHE 93
B)3
Cc)2f%
D)4 G

Answer: B) 36



Explanation: $3% Bew® fFF = Soo-5% = by BIFT fAHF vk BIFT T FIH = Soo BIFT
fAFTAT S BIFT I FITS = Soo/bk BIFT AT $0% TS TS = Soo+vo = SSo BIFT FIS

Soo BIFT I fTFTT = Sso T & BIFT T [T FT= Ss0/S00 FIFHT Soo/bk BIFT A
[T = SS0xS00/S00x kY = $50/BY SSo/b TR Ay a0 3@ ¢ b 3T .. ey Ty

FAW 2 = exbv/SSo = 8 6 AT

73. Question: TG AT SO 2:3 972 9. . 8. 4 T JI6F RAMB F97?

A)6

B) 16

C)8

D) 12

Answer: B) 16

Explanation: §fF 51357 36 2x 932 3x 2x 932 3x 7 ST = x O, X = 4 .". J2&N A = 3x4 =
12

74. Question: %o TNET AFE 55 TufG 18 972 5N 56 MW (FSTHeT 75 (T TAH TG F9?
A) 2

B) 10

C)4

D) 12

Answer: C) 4

Explanation: &f3, y@fbg ¥ sm= g 9 NH@I 9@g =d .. a+ (5-1)d =18 a + 4d = 18 ——-- 1)
a7 5/2{2a + (5-1)d } = 75 2a + 4d = 30 —-(2) (1) & (}) T F@& MN¥a = 12; d = 3/2

75. Question: S (Y@ Soo THF WAT TRA (T F67?

A) 855

B) ¢tob

C) @ooS

D) ¢oo

Answer: C) ¢ood

Explanation: 1 (3& 100 &g ST (@SH = n(n+1)/2 = (100 X 101)/2 = 5050



76. Question: IS 98T TEF ey I IRFIF 3T ©F, SToIEF AGF O F 17 2o ?

A) (TR
B) *fel=Ta
C) eI

D)EEGEI]
Answer: A) (NTINFTE

Explanation: SIS 578 M&H el A1 20T A JXMOIE | BIR(E SO (F A 972 ©1F
AR foe TR

77. Question: S8 WIEF  fE0TFT FTAMOTR @ $»>¢ NEF 9FR ©IfFY fF 19 2[?

A) eI
B) *feiTa
C) Tx9 =
D) &3

Answer: B) fa1F

Explanation: $»>@ I fe/s 2378 a7 ©1, $»>¢ MEF o oI o 932 e a1 Fr=ifeqm
ORE S SO @ SHIF|

78. Question: (T AT VTG HTHT TGS FT? 5-3-C-50-50-36-3>-8

A)S

B) So

C)

D) 8%

Answer: C) 23

Explanation: 93T {6 817 S@®| - S H11M600 9,¢,9 ©F TF G INFE 8, bbb I7% - fF6ly

A0S 8, b, b B AGH T TAF B, b , 0 TINH T2 8% WG 97 4T TGS a7 |

79. Question: AT (FHG TIEEF 2 &2 JD - KF -2 -PM - TR



C) NI
D) Ml

Answer: B) OJ

Explanation: 93T, 76 &7 fAam e | &m&i J, K, M, P, TS®@g =0, 1,2, 34&1: D, F, |, M, R 9@ =
1,2,3,4 .. TIREF I M| &

80. Question: 32 Ff& 936 F18 9F@ b [ Fa© TE| TV I5F 9T FO S O Fa0 M|
fFely T 9F P I Fo M FI© TE?

A) xo fa&

B) x¢ fa&

C) wo fu

D) 28 fa@

Answer: B) ¢ fute

Explanation: X 5 & ful@ & S/b ST 9 & S e FE 5/53 3 5@k, 3T e S e $&F
(5% - S/SR) TR = H/38 I JOAR, AP FA® 3T HEd 38 e A& |

81. Question: fAwET @E06 (NEF T2 772

A) b9
B) xv0v
C) 38
D) :¢w

Answer: C) 385

Explanation: 253 + 11 = 23

82. Question: 9FSH (MF AFH UL I A (IF AT BF FF S FENNOE Sad @ (517 22 (T
(A ¢ FFENRBE 7 @ (57| I@1 CTE (7 A S5+ (3F F0 G AHE?

A) sa 3. fi.

B) sa f. fiv.

C) v8 f=. fix.

D) ve . .

Answer: B) s¢ f3. .



Explanation: V(533+@R) = b

83. Question: IVI A |2x-3|<S|1 ITHSIOT TAHH___
A)1<x<2

B)x<19¥q1x 22

C)-1<x<2

D)1<xs2

Answer: B) x<139¥qTx = 2

Explanation: |2x-3|<1 = -1 < 2x-3 €1 = 2<2x<4 .. 1 <x<2

84. Question: 9316 Y31 o= 136 Wl a 97% 7, fageld (Fam Fo I 155?

Answer: A) (V3/2)a?

Explanation: 537g fagmd 136 e a 939 2@, fageiod (Fawe =V3a2/2

85. Question: f3: (T ©fF T 12% HF, 58% (@ A3 A 720000/- 5131 NI At |
I T (6 3T F672

A) 1200000 Tk

B) 2000000 Tk

C) 1600000 Tk

D) 2400000 Tk

Answer: C) 1600000 Tk

Explanation: §t + (@@ fM@® = (53+¢%)% = 90% 20% F*ITF JeF = 90000 LIFT $00% T

XE‘IT = 9x0000x\o00/W0o = }800000@@5‘[

86. Question: x = V3+2 20, x3+(1/x%)



A) 312

B) 8

C) 123

D) 183

Answer: B) 8

Explanation: x = V3 + V2 1/x = V3 - V2 .".x+1/x = 23 x3+1/x3 = (x+1/x)3 - 3.x.1/x(x+1/x) =
(2V3)3 -63 =243 - 63 = 183

87. Question: logx(1/8)= -2 X, x = F©7?
A)2

B) V2

C) 4

D) 22

Answer: B) 2

Explanation: logx(1/8)= -2 =x-2 = 1/8 =1/x2 = 1/(2V2)2 =x = 22

88. Question: 2x+21-x=3 X(, X = $97?

Answer: D) (0,1)

Explanation: 2x + 21-x=3 &3 2x = a ®1a, a2 -3a +2 =0 (a - 2)(a - 1) = 0 a 95 ;TH 2x INF TR,
x = (0, 1)

89. Question: %G (FNIF M ©IF JIF (PN NI AT T | (FAbF A F©?

A) 60°

B) 45°

C) 25°

D) 30°

Answer: B) 45°



Explanation: 343G (F17 = x O T8 (F1 = 90 - x T6H®, 2x = (90-x)/2 x = 30

90. Question: AABC a4 ZB=90°, It AC=2AB ¥ ©(q, ZC 97 ¥ 3u?-> 57.PNG

A) 45°
B) 22.5°
C) 60°
D) 30°

Answer: C) 60°

Explanation: AABC 4 7% = AB 93¢ @Ifogs = AC (W8T 9, AC = 2AB .". AB/AC = 1/2 I 3fH,
ZACB = £C = 8 91 3, sin ZACB = Fg/aifegs = sin® = AB/AC = sinf = 1/2 = sinB =
sin30° = 0 =30°.". ZC=30°

91. Question: TG A = {x: x Fibonacci ST 932 x2<64} 2, P(A) a7 ST FI6?

A) 128

B) 256

C) 64

D) 32

Answer: B) 256

Explanation: (NG A = {x: x Fibonacci ST 492 x?<64} A = {0,1,2,3,5} .".P(A) = 25 = 32

92. Question: wo (Y@ 8o TAT AT (VF (I (FF AF 6 2aN© A (F 32476 (Nfers w75 97
fTos 23IF TER Fo?

A) 6/11

B) 1/2

C) 3/5

D) 5/11

Answer: B) 1/2

Explanation: @o (Y& 8o T (NTF T2 = @Y, 99 o (F 8o T ¢ 97 8ffes = wo, v¢, 8o wo
(ATF 8o AT (G AT = b 6 CNFTF 2457 IYAT ¢ 97 Sfdos = 3 + © = ¢f6 SR TTEFA] = ¢/SS



93. Question: fA®F @&G W9F? -> 58.PNG
A) 55

B) »9

C) b9

D) s b8

Answer: B) 9

Explanation: 32 + 42 = 25 52 + 62=61 102 + 82 = 164

94. Question: 935 TG wier AfefAT eI IFF 92 AT F61 IE? -> 59.PNG
A) LSt

B) w80

C) Q:80

D) aszo

Answer: C) 9:80

Explanation: IR TG 18T 9230

95. Question: 2-(N3 S FAF AT T[IT© (AHIT (P62

A) SMTP
B) POP9
C) HTML
D) POP3

Answer: D) POP3 (Post Office Protocol version 3)

Explanation: (73 STSTE POP a7 IMAP 43 STMP (MNG1e F5331F F1 27| POP a7 (&1 7
Post Office Protocol | TFIRIEFTAT (I e (27T T2 FE T OTF IR A (TS TS AT 27301
(T3 T TX| (3T NS (AF 3TN (N3 T FAT Sely T[T Tf2 (MG POP3 |

96. Question: (FMG JOF FI?

A) A+0=A
B) A. 1=A
C) A+A'=1
D) AA'=1



Answer: D) A.A'=1

Explanation: T S=m SopE, A+ 0=AAT=AA+A =1

97. Question: 9F word Fw JG I8 zI?

A)8
B) 2
C)4
D) 16

Answer: B) 2

Explanation: 3G (Bit): IR AT Twfete Taz0 9% o (o) 932 S (99F) (F {96 IC7T RES
Binary &= Bi 932 Digit & @ Bit =<5 5fd® 27| fSfH6TT FEATHIET (I ST 2 6 (0 3
3)1 A (0) 36 M s (a1t (Low Voltage) 933 (b) 36 i@ T% (@ss (High Voltage) =
FA1 2|

98. Question: (T 494 bus T2 © 2F «1?

A) address bus

B) control bus

C) data bus

D) input-reader bus

Answer: D) input-reader bus
Explanation: $TSEE I 310 X TFTF | IAT-5. FSEEH 19 8 *. AT 57| A fodf HT=

System Bus X(TT - Address Bus , Data Bus 8 Control Bus| Input-reader Bus J1(® (11 Bus GEY
R Nf3F TeF (V) input-reader busl|

99. Question: ROM ffa= (smsna a1 572

A) malware
B) lip-lop
C) virus

D) firmware

Answer: D) firmware



Explanation: STENFG FRTOHE FCHH (OfF FAF TN FEAGLIET (TS (T TFT (NI TSN
WFHT FE (T3] 3 OFF HZHSTNF IE| A TFF (TS FPTO6IT IRFIIAT AfFI6a Fa00 1= 71

100. Question: ) a%f5 AREF (T6-7 IS 1 2T IAF A7 N 2975 0 AF | 92 (5T6{5--
A) AND

B) OR

C) XOR

D) NAND

Answer: A) AND (AND)

Explanation: NAND (55 95 355 1S5 forga: AB ->0UT11->010->101->100-> 1

101. Question: ) (FTAB NRHITHGS FA (SAH?

A) Windows XP
B) Windows 98
C) Windows 7
D) MS DOS

Answer: D) MS DOS (Microsoft Disk Operating System)
Explanation: - MS DOS ( Microsoft Disk Operating System) s> ST fAfersy (W31 27| - ST

MS Office S» e ST, Windows 95 $»»¢ ST a3 Windows XP 200 ST f3fest (W31 271 [Source:
Britannical]

102. Question: ) f$F EHEEEGNT /926 2 ----

A) SRR R Sl

B) ATRTT (TR TIIH FI(©

C) f&% Haes I

D) fEt3a TRASEND {3 Fa0©

Answer: D) o3 SRASENE ‘Eﬁ%ﬂ% $409 (To reorganize the files on the disk)

Explanation: FRES6 FIHT TGFETHH HIRASE ISy TR =fS@ ME, 9 6B a™e
T3] A1 FOHI5T FET| O TR (F1A B TG0 ACEFPS (I THIF T G| 4 (H@ S NETS
FFIFO] f{AFce FAH o (5% BHHEEETE FHS IR F41 27|




103. Question: ) (F1d TG (FATETF Fiely FI?
A) ekhanei.com

B) olx.com

C) amazon.com

D) google.com

Answer: C) amazon.com

Explanation: S5 (FAEEIF W126: bikroy.com, ekhanei.com, amazon.com, olx.com 3&51™|
google.com a6 6 23 A1 afb o> v T AfSfFe T 5T 782 AMOTHod (S0, FHAEHIAITI

104. Question: ) FFFTHF (FHSTF OSI AGET IF FIMH?

A) v

B) ¢

C)»

D)q

Answer: B) ¢ - ¢

Explanation: OS| S(SETd I 9 {6 ot A8 (7371 2@: - Application layer - Presentation layer -
Session layer - Transport layer - Network layer - Data link layer - Physical layer

105. Question: ) (F JGEFAMG FHIEEEG TR (FE@ THEHF 20 377?

A) Linux

B) Novel Netware

C) Net BEUI

D) TCP/IP

Answer: D) TCP/IP (Transmission Control Protocol/Internet Protocol)

Explanation: Transmission Control Protocol (TCP) - 3618606 SRETEF (F@ FH1EF 1950 3F
TCP/IP - ARPANETA TCP/IP 3 51 37 S0 A |

106. Question: ) (F fSF6 33T FFHT T2 YFE?

A)$
B) #



C) &
D)@

Answer: D) @ - At sign

Explanation: - a%f5 2-(72 fBFE 92 AF@ @ O=B1 - 593 TET TLTAT 2-2 FFT @
foF 929 T 2| - (IFA: robithakur@gmail.com.

107. Question: ) [ @116 Ty 737?

A) BIF

B) G361

C) f#T 39
D) SRS

Answer: D) SafFH1fean

Explanation: - &53% , R361F 93 &G 3 4% fSaf’ STfE (@It s | - SATanE
CREE IR G EEOBCIEEIGART

108. Question: ) (FT IANT 3 THUIF JAH]-STT 5500 GHIFT TH| AT AMTETS 3/8 FT 2, AT
RFF9?

A) 10%
B) 12%
C) 15%
D) 12.5%

Answer: B) 12%

Explanation: &f SIS & BT AT = © BIFT O JAH-ATT = 5 BIFT ARSI 5 BIFT T
W= 9 Eml "= /Ay ' @Goo "M = wXEGoo/SS = SGoo WOIRE AT = ¢¢oo-S¢oo = §ooo
WWW = %@00%x%00/(8000%9) = YX.C%

109. Question: ) UNFARE &b ST (W BT 3% Ff6 1 @-

A) 63.PNG
B) 62.PNG
C) 61.PNG
D) 60.PNG



Answer: B) 62.PNG

Explanation: (T 5T (15T FT 23|

110. Question: ) Which one of the following words is in singular form?

A) agenda
B) oases
C) formulae
D) radius

Answer: D) radius

Explanation: ‘Radius’ %G singular form 4 (W31 3%, a7 plural form 2 radiuses 37 radii. ARTOT
NfF *=SE plural form a (WIT A= S singular form 2@ Plural ---- Singular

111. Question: ) 'STefel =T TSI GINFT TG T~
A) FF TRA

B) F4F [y I9iRe™

C) AF S sife 3T

NERCEE Tae

Answer: C) F417 S &3

Explanation: - "STeTel =TT STSIF ST SIG SO TRNGH 07|

112. Question: ) ‘CT=12 (FFSTTF 205¢-90’ (T AF6-
A) SIS SHIS (T

B) SJTife 1T (% 21 (FPTeT

C) S §(fF 2N @1t

D) TRTeIE F 2™ @

Answer: C) Qf@E=Td {3 I (1T

Explanation: - Y05 NTETH 38 (¥ b AT S (N2 TR Aef[0© 27 NMoN @I w6y G
(2T 33 STEger |

113. Question: ) ATEIT IR @ T4 APTGS ITHT---



A) TR

B) foelrovz

C) ya

D) s8I

Answer: A) 53

Explanation: TSI IR FOSE IAPT JT TAW [T6S @l AT JET 2T TeTom ool SAave |

114. Question: ) fTET (IR THHGI T (F IYT AT oA foET 2

A) FIF

B) =
C) =R
D) 9191

Answer: A) [$<d

Explanation: - (STT5Te ST AfedTel SRS 329w IR @fF S ‘QaF-2-IJA" AT I
T OTF ST S Toel FE | OS2 T ATSITA TEAFTI G FAG |

115. Question: ) PfeRIfF =T 9T (T FHTTT SDYY NETF=--

A) SSTCH
B) (37 I

C) TFTR
D) & E©

Answer: A) SISTCG (August)

Explanation: >4 ST ¢ A NFINA TR 5797 CTH I T2 & 5] (FFA FE|
=AM 7T R

116. Question: ) JRIFTF TIFTEF ATl 3 AT FG (F RETar?

A) FEHT A FTF AT

B) G)[SICk e R

C) 4T (rTe1P AR
D) 4. a%6. A% FIHNFHHA



Answer: C) ¥431d GIFTO1P AllRA"

Explanation: 559 SITETH So af3eT Srt AT TAFTA/{FITE NP 5130 21 39 AfFeT 2 N7FF
o7 STRY B |

117. Question: ) fF7a fSfte 7 IRAT ST ST TFRA?

A) f5-o1fe ©%

B) SITI& (bwaI

C) ST el

D) I5 SreFe[w

Answer: A) fa-a1fs ©%

Explanation: - IS 3[{& NG S ToAAT (T ST SEATT | ST ACHITA Herphote 53
FRATT TSI T [TT SOOI ST ST STOTSTIANET ST TG | - 92 SOFSTINEH f&fs
foCeTT AT O 3 FRSIeT TFS| - TSI SIS M o TR N(IF N (T TSI T P
STEAT 2 ©1-% SRIGI $»9S SETF N NfETREACIF 32T (FF RROTE F16 SRR

118. Question: ) $»¢8 NIETF JIIRAT A@AF AFTW [FL6E I T l-n-

A) CTE TR A (F TO[T 33
B) (2IGT *121% GRS Tt
C) SIS ST R AT SIS

D) J1T ST SYferafgz

Answer: B) @IS #1219 CTIRATSITAT

Explanation: - $>¢8 STETH 36 5T ATEIiEde] e FE JoH6 AP NIB1F SO 1T
T - TEH MY 33306 AT AT ST AT A ST 5123057 oot $8%, F3F-20F MfHA 8,
(TS T 55 93 SIS TEH S |

119. Question: ) ¥ 517 2I---

A) PTIE

B) SINAM:®
C) fraeE
D) WsTeIRISe

Answer: B) STAAMRE



Explanation: ¥ 51¥ 2T TG ST JT TS A1RIS! ITF1H FH1 7T 3 T&H6(© B MNE
ST SITRSTR S ST FRT 3| - TRACTH Ty ST TSR, T 3 TGS (Sl
AT T ACETSIAT AT g g ST S 67 S| - T7GT PITE 1T 2By 93 FIFALPRE
ST METS I 61F =6fee e

120. Question: ) BIFT SIS (FNFTET TAXF---

A) TG (ST

B) ATSTOIRS (Sl
C) I=FAT (SelTd
D) AP (SeT

Answer: B) FTSTOTRIG (Sl

Explanation: IRNCTA NERS TGP (TSI 2o SIFAT| SIFNA ToFT »o A3 (I BTG
3 YTTOTRAG (ST (FAIGS | 205 NETH NS S[HIE, S SIS ST AF X T @0
S|

121. Question: ) IRTECTT ST ATASHTI TH----

A) 529> NI
B) 93 ST
C) 99 N
D) $98 S

Answer: B) 593 NI (B)
Explanation: TSR & IRAICT 3 AMHBA IIF© 27 5298 W | T ARISANHS

FREACTR STz et T 9,68 @G| 9 TAF IRAECT (M6 ¢f> IS IF FfFe T@®@| INT- 98,
DB, SDDY, 200% 3 208 M|

122. Question: ) FRECT (B (P8 BRI PO AIG[A----

A) frafreerd 3w =
B) wifdfieeTd 3fa ==
C) Iifafo® YFm

D) TR

Answer: A) faffiee1® 3% Mt

Explanation: IRNCTS (NG (71 83 71e 1 &S50 FENOT STT0 FHITHF| - 2089-305 Y,



305B-305D JT Y059-30%0 FATRF AT AfSe FRANTST T ROl TATHE $8.3© Ok,
519G TORT AT $1©.9¢ TORT| - AW 2059-305F, 051-305D I3 Y05D-Y030 FIIRE FHFIE
&S FRATST FJ% RET TIFET 8.5 TORT, 9.5 TORT I3% 9.5 TORT|

123. Question: ) IRTAWCIT ANON [ACHTE TRF ----
A) T TRF

B) TR TRF

C) I} IRF

D) T FH IRF

Answer: A) F T

Explanation: IRNCT BTG [HCMEIRS IR A7 of6 | ASE 7T - IRA FE IR -
SN FH THIS RS - AT T TRF |

124. Question: ) SITSETSRT IRATWCT TIIUTAT (F1 LA T ASIHIE AR G300 ST FAT
1 AR ?

A) 5T R
B) &TAT 3>
C) 8T}y
D) &1aT 29

Answer: B) 1971

Explanation: IRNCTE SR QOIS - 97 "GNfTF SAEFT" 0T 39 A2 Ao i
EIO Y

125. Question: ) (SSFEIF TFASF T ISHA ST SA® I (7F) IRAWT 3@ AT [HST,
205G T IR £ Joid 21 (e 2o Sitfre &ee)----

A) Y
B) x9
C)3»
D) wo TAfG FMfee Fa1 2=

Answer: The correct answer is:

D) wo



Explanation: IRTNPT T3 THHT-x0%0 IJPHNE, - IRTACCR 13 Jgad (3 To1F Sifse
SCH)- XS T | - T I T (H© Sooo TE)- v.S | - 7 ¥ I (4 Sooo HE)- 8.5 Tl | - AR
(5¢-8> TF) o6 TLTOT TF- 2.08] - 5TS fA@HT TIMET TF- L©.8 |

126. Question: ) 9% “FIAAF AFFFIN TN ASIRF IRAWCTH 5TG TP (&S 755 G

A) 9.00%
B) 9.53%
C) 9.90%
D) 9.80% =36 Ao F1T T@A®

Answer: The correct answer is: A) 9.00%

Explanation: - IEATGCT 9349 o4& (NG w6 72 8 1t (affe sy afte :@m| - o=
TPINAF ARFIN TS T $290-539% T - NI ABH TPINAF TAXFINF AP TR 030
(A T 303 TG | TSP, - N (AF© ARFINR AT Y050 (A Y03 I3 F6IT (affFe
SARFGAT (T : 303 (F 3085 T

127. Question: ) (SSFEIT TFATSF T | TSHA ST STA® T () 205¢-5b AATIF TRATWCTE

A) ¢.53%

B) Y.0%

C) L.85%

D) b.80% FAfG Ao Fa1 W@

Answer: The correct answer is: B) b.0%

Explanation: i@ 205-3030 SRARE TRATICTR I¥Ao® JMEBRS f&ET ¢. L ToRT| oo
THAT o2 €. ¢ TORT| 51 Y030-3S IIRE FNFHoF THINAT ¢.8 TR

128. Question: ) IRAWCT A58 TS S RNE FHEF 970 27 ----

A) BT ST
B) 3T
C) &t
D) sgfes sty

Answer: B) 31



Explanation: ST3fe3 ST (WCTE AMfATENE STenfera a1 s ST T3 I AMF | 205%-5> IIRE (0T
HFTOF ST HIAET AT S08s. b e TagG |

129. Question: ) STESTERT IRTAWCTE TRITH M TN A6 FHREAIES AR G-

A) © Ivg
B) 8 I=d
C)bIng
D) ¢ 927

Answer: B) 8 =7

Explanation: IRATWCTR NI4T 'SGF BT a7 "AL 5" 0T[5 FRHAET SToaT T==F e
AR

130. Question: ) (M (FIEAT ATFG2 (SIGIF T ANF T5f& T [T H(H----

A) fET6a FHErTEE Sefomrr NI 7 MG

B) SRS NI o H A 200 G

C) AT WAy FYIEFF Ao w0 A 2 MNARA
D) (FIATZE2 IR T® MA@ A

Answer: D) (FTAIFER S 206 TIES o

Explanation: - (5073 (FTET AMFO3 (SIGIF T A5 & T A6 (@FHHeR N 7@ M@
7|

131. Question: ) (FEMb IT TTFT 7I?

INIGIEEE)

B) S ST w
C) 6 FTNE=

D) st fags

Answer: D) &t A58

Explanation: IS IRACT T6foT0 TAT TTFTT T3 TE® ¢ HFEI | ST TAPET © HFET ATe
2T ¥ © HAEH|

132. Question: ) R FIHT FNG[-=--



A) SRS AT
B) FIZ=fed

C) S&Ed

D) STeiy S

Answer: D) Sifo¥ SEH0WF

Explanation: - 139 FI@H (F@ STolF 5w I AR [FO15T NH© N FHOIF FfYFTER | IR
RAYET 7% AR IRITTe1T I39 F47 27|

133. Question: ) T e GINT (@ I TTFF T FCMEE SFCT NG o, & TFEF ST T

A) AS (A0 we
B) =il fe1sr
C) faer= fRersr

D) STt STaey
Answer: B) SIS @15t

Explanation: S[IeT a1 (civil society) STSIRFTAT (TSI 9171 - IS ST ST F11F 3 5134,
STATSTAT A3 TP 8 e SHI@ SF9Yf QST 7 FAR| - AT TS TIFNEF alig el
SAEwReT 8 T=e] fAFceFa TG

134. Question: ) SISO IRACTCIR LIS T fAH1BE TF FA©T ITT----
A) vwo =7
B) 8¢ I=F
C) 8o =T

D) v¢ 3=

Answer: C) 8o 3=

Explanation: « IR ST R3TTF FJAr0s FIY 3¢ IRA| * IRACTT TRIFHHF S33(R) ¥ e (=w
T BEH (STHIEFTT MNFF FHes IT7 b1 T | « TITHTEF S33(S) INearT FoT AT ‘=Y
FIEH (SIBIEFTE- 98 NeF fefare TIwa fAdToa IFe 271" « ©R (ST61F 23T Fhes I3 b
TRA| » IS 28T Jares ITF 0t T=A|

135. Question: ) IRTAN@CTR SO AT ST (TCTF AAfo@F Ff6 AT© 15T FAT 77?2



A) S
B) vv©
C) »8
D) s¢

Answer: B) bo

Explanation: (7078 (TN S35 (H@ ST 3 AT (8 2T, (FSENE CININIT FE ST FAT
T OIF STo1y AIF ATS F7 27| IRATECT A To6te STery AN FFACE 216 et 3561 Tga
Tahete ©f TIeT s¢fb|

136. Question: ) (555 @6 IRTCTH A (F TAN ST (WP FE ?

A) feibe wrs
B) @Iy
C) Mf\F
D) 1%a

Answer: A) f6e arsy

Explanation: - 31333 a2 2000 ST TierF e a6t 333 IR ROE (656 fFE0 SEe o3
FEA| 2 7S fofe (556 (@ of T o13fa &= |

137. Question: ) AT @@ dHfa@Ea iw?

A) TRASF I TG 23

B) e F1aTay SIf&= Afr farenst (w3
C) S S (ofd F4T

D) TRF 51f%s a3 (I &l

Answer: C) W 371 (ofd $47 (Creating skilled manpower)

Explanation: FT8 (o1 sifEa R st sjfRay 932 SfEa 1 @ Qe (onfy 1@ afos
AP POSE AT 3 FET AT 00 2| - ASMIOH FHH 7T 3 FST (R AEA Af©
SIS TFTT FAT| - ABH A6feTe SN2 97 ST (I BT 972 SRS A STHTT (AT ATSIHS
e TAF| - OR SIS ROTE I 5T Ffed MR A F1 @1F [fEF IFE FOT|

138. Question: ) NAFAMET T IR Ff6 @ e T@®?

A) o
B) ¢fo



C) sft
D) oft

Answer: B) ¢f6

Explanation: IRNCTA ST Y6 (M7 eS8 IF® | ASE 2E: - ©IF - NI |

139. Question: ) ey B TRE(E F© T IHHG 77?2

A) bdd9
B) 200%
C) 5»»»
D) 539

Answer: B) o0)%

Explanation: - 359 ST } SR IRATT TTFF T2 MNFST CEAH Se1236 SNfeT M&T TSy
BB 1Y §fe e Tsfae =31

140. Question: ) IRTAWCTT (SfF TYN T TIGARGT JF B2

A) s s

B) (VAT 55

C) (AT w

D) TV SEHT

Answer: B) (AT b

Explanation: - (WO 303 ST SHIGAIRG “SHE SMIT” JSAE (FENS Co (B (V& FHAT
ST TREF FH AR - CI (FBIF (N TR ST 9 (ST o 0BT [ FRFICT Sl
FATF| - IR TR (A TGSt Fgr AR 12T i, FTARIT =TI ZNeTT SIGT A3
MY @ A S [FTS IHAMCOTE AT (CRETGO AT STTGIR0M6 i FERA | STa:
(G o1 feTG |

141. Question: ) IRTTT 4T NHTANES N Tow KT GV @ FFF T forofs 732

A) Permanent Court of Justice

B) Permanent Court of Arbitration

C) International Court of Justice

D) International Tribunal for the law of the Sea



Answer: D) International Tribunal for the Law of the Sea

Explanation: IR 3 BTG T IOTTIISIET NRACTA TRF 1S @ STRET RGN
ferff@eos @@ CLCS (Commission on the Limits of the Continental Shelf) 4 fREI&T F@®| -
TRATTT 205 NEF (HFAMH® CLCS 4 Hma FATT== Sy widt F @0 Sl (07| - TS
TG NTFF IR 1T (AfF@ CLCS 2 i3s3 el (v |

142. Question: ) IRATT TSN NS ST AT S ey AT FF----

A) STHCS (NF

B) foeg (@
C) ST (F

D) S (=

Answer: A) ©1F0© (V&

Explanation: 518 20%»-0 JNIREF IRAOCIT (N6 AN AFH ¢¢. o f[Fferma miFa Tong) ag
S =efs AR 8. LD FTIT TAF 972 CFRT I L. > [T MFT T | (77 o2
S S95T: 3 - Bl (55.8%» . ToH) TSl — ©1F© (€90 3. TaOE) goiF — IEAZ (.53 .
TR | (@2 IR TRS SFITRG)

143. Question: ) Y033 WETH %] fT919 Sffde 2 :

A) TR

B) f51&e
C) Jfefe
D) Fre1d

Answer: D) ¥1919 (Doha)

Explanation: - 05 SR H53¢ 931 ARETT A0 T - 2033 TEH 3 AGTI (@ Sk
T FTONE TYP© R XS %] FHIT IS S| - 97 M STANINES N (FT T
(0T HFORE [IFTT A0 T(© 22| - 303G HE 0TH HHI [TIFIE NISF JSAZ, FIATCT 3
TR ot % STITRE

144. Question: ) 3N T2RTTST 53 (SARY) AT TRIfETF SAEF SR 2% :

A) ¢
B) *
C)s8
D) w



Answer: B) }

Explanation: - 5> W ¢ (THFF NF@F IO TS 2TANN A 2737 (S93f) Af6fde
Y| - 99 9g9dF CNW NEEF ST | - SR 655 (W €9 61 - TRIATT $>98 S ARG SNCEHAE

ST FITToY e FE | - SARNT AT ©FT ©ft| I AT, 2@ 93 T T 3BT
SIITRG |

145. Question: ) FETSY (F ©FF I S (N6 20x:

A) FT1 SUFORTW
B) saam

C) 7 NFA™
D) IR¥II™

Answer: D) 9839w

Explanation: “I¥33" (Realism) - SR M Fo102 LI MeqF (TR LI, O AeqFT
TIRT S8 (AT (%2 fPTee s, /188 e |

146. Question: ) &S FF (ATH @S {5 F9F (HH© CEEHF [T 2fAF@TS
(957.f8.aMR) a7 TAfFT F i

A) ATS

B) IS ST Al
C) TS

D) O FF! &

Answer: A) 4T&

Explanation: Strategic Defense Initiative (SDI), byname Star Wars, proposed U.S. strategic
defensive system against potential nuclear attacks—as originally conceived, from the Soviet
Union.

147. Question: ) 05¢ ST HETT TYFE F5-3 1 F© MATF SN© A2 FERA?

A) v>9
B) Sub
C) v
D) 4



Answer: C) 53

Explanation: - 05¢ SR 3 fE0THE HIEF A Seffd© 38 UNFCCC Conference of Parties
(CoP-21) a fas S §f& ke | - §ffs FHFT 2T 2050 WFTF 8 A(©FF| - TOI AT
ST B0 TRFFFTAT (PI/TIE S]RAW 356 a3 AT 2561 SF ACHTE b L6 e a1
fA@fRE - §fEBre 937 Tor &EF el 3 J1-FageE Qe ».¢ (3@ 3 {5 orefea
[BISEIRIERE R EERIERT

148. Question: ) FIITANE @R5ET ©1WT A5 HFT 21T
A) SHOY T
B) s>bb W&
C) 9% N&

D) S3%3 Y

Answer: D) SR N

Explanation: $»8% STt fRATNE TEITOT 16 FE| + S>3 W FAENET THEF TTF1F (F 534
@R Jfe TNETF ST FE| « 3298 N (F 2 NHEF FTFF (JRoed [5G @ o
SIS 52" G| » S22 ST PEEANET AsIETs SR Swifb (SEd SHenSiE FsifEes W FaT
7Y 3 (@Roma (72 Oifei1d IR T4 27|

149. Question: ) (SSFTT TFRfEF | TSN G HA® VAT (73F) SIWH-AF STSA G AT 20

A) 25f& FYrETCST

B) (GG GIF

C)Tq &

D) (a9 (3% A6 e F41 2@ =

Answer: A) 35 FFTST
Explanation: ST JGANEH IS TG FINTSE (STIAIT 7%6) SAFEAREE aF0 G571 - Frowea -

RSO - AFANT - JSANZH (AT (S TRIG - NP TN SN - SToo S - TGN STSefd -
feI el SWEET (Lou Leon Guerrero) (ffd 2056 ST (I WIAT AT FAA)

150. Question: ) 1T [FAEF (FTo¥ MG :

A) FTf NS
B) (FSfa& aBFS
C) M3 (7 @3
D) fe. 2. (eifasy



Answer: D) f&. 912 (sffae

Explanation: $5%9 ST I 3770 4t 787 afoe 231 92 46 e 930 “59 59 W
f383” (Russian Revolution of 1917) F&T 3|

151. Question: ) 42 I1 SO1EF AfSTal I3 METIRT TR SAFS (T1F Je71 2 :

A) IEBe 918
B) foqCHS A8
C) @ ST =18
D) I%1H 918

Answer: B) f901% T18 (Neutral state)

Explanation: Buffer state - A peaceful country between two larger countries, that reduces the
chances of war between them

152. Question: ) ¥ = a7 o 779 :

A) sferae

B) & (BfarsT
C) IF6 I
D) (b (Bfas

Answer: B) 7 (Bfersy

Explanation: 3 5z fSEeifs: JEamE@a T Siwa =1 Sa3@ (BfIe (Bfarsy 3 s (3o gxgsyef
3T M| RfORTT 9% TBT fHreswe fEEneifsy ey sifafee|

153. Question: ) (I 3 (ATG 2ANIBS ([ oNF AR) 2T FER :

A) IS
B) S
C) o F®
D) &=

Answer: B) ST

Explanation: - (3% 1% (@10 P @be *fFFgar e 89 o3fde a5’ saafasgan aft Fofrs
(AT’ 78T (55 ST (FG ANS SAHbw |



154. Question: ) (FAG SR EF TEGS 97?2

A) 33, a9, 3

B) 2 (WHO)

C) S7@q Y356

D) ASEAN (&)

Answer: C) S7EF NI3Mb

Explanation: ASEAN/SISTS ST&TA ©25: SIS 95 (T Association of Southeast Asian
Nations 31 wf%e 7 95 SMSTRT 771 | ABAGS (7 Ao INAGS (6 RN GiFT Mo
BRI FE | & IASFB, S Y9 ARTINST TRF@ JEAE T, I, AR, S5 8 Fofersniera
TIHPIA@R N (AN S50 A ofde 27 |

155. Question: ) ST 9T 78T (FTI?

A) BIFT
B) safwat
C) T

D) FIG

Answer: A) BI3T

Explanation: - 5f%er a7 anefers SzEnfareT i3 (SAARC- South Asian Association for Regional
Cooperation) $»% ¢ ST v feo1ag a6 =31

156. Question: ) S>> NHBE (F1F WAHA (NS FIfT RHE Mfere z=2?

A) ASEAN
B) NAM
C) GAT
D) UNO

Answer: A) ASEAN (Association of Southeast Asian Nations)
Explanation: - United Nations Organization 37 SeSRE JaT BF I 28 AT v28¢ | - (F RHE

SDDE T T ¢o TR Jef T T (SIS AT T =T (| - DA E GATT, NAM 8 ASEAN
FATXE 528, SaC¢, S b9 H(T qlo ey



157. Question: ) [ (F1F FHFEER T TG FCIAATIAT I 2

A) MAE e frgaer
B) SITHE Al

C) Pfe=f5i= ey T
D) NP TRIHel

Answer: A) TR e fA9aeT @1
Explanation: - ‘SSERG 3CENARET JSAE TS 6[6F AF6 AP TAIMEFE W31 - a6

LOUS ST I 2| - MGG IBENTTNET ST FAt $ 97T AR =T FenmeTs snzfae
| - STFMB S99 JE NP (NET JTHH S FE | (a2 MGG IBIATANT SFITRG)

158. Question: ) UNHCR-39 Suq W&F (*11F?

INJECERES
B) @™
C) oo
D) (®rel

Answer: D) (3(«®]

Explanation: S>@o S 48 fotTaa SfoRET I fI93F RFAHE1F (UNHCR) sifd® 23| - a7
FRET PRORTNSH (TSN TS | - ISNT TRFRATR ofeid NG| - F3M6 358 932 SdBS
S (T NE JFFF e FE|

159. Question: ) STAEF NAGF ATBIF ANAGP el (FTAMG?
A) TFCIT Sieer Afh

B) Ffer6 e

C) 325 S Nt

D) 2SI FA5TeA1eT FEET

Answer: D) 2SI 5T FEET

Explanation: - $%% @ S @S NS SN AT OT G 2SI FPTAET FE Ao
PEA|

160. Question: ) Imperialism, the Highest Stage of Capitalism 335 F17 (731?

A) BT 295



B) afBfars sifsy
C) FIef NN
D) f&. 2 (eferer

Answer: D) f&. 3112 @fee (V. I. Lenin)

Explanation: - SRR Sr(dife faea a1 2618 (e ©res s¥faifoq 936 FFa o fie| - fof
9 ©F OTEI ST O AN FEES "Imperialism is the Highest Stage of Capitalism" J15% S|
- fefar sTrrTewaT™ g S fReEa SIS 39 T Wi FEEA | AP i 8 SRy A s
AATFF JEIS NG FES (A | T2 AFTHT -T9T (TNF 2o (3T 573 - TFF) @16 32|

161. Question: ) TFSF ARET T&F 27 :
A) FapI (I

B) SIS 16T (F
C) férs, BrB1ea 8 FATINT fos (AF
D) 3T T, Q06T 8 T AF-F (TN (NF

Answer: C) fas, fAro16a 8 FINT afes (AF

Explanation: - a6 AIBREt 8 S sere@d SaF o a8 G S o Mg seders’ a3
TENSF 56 Neq™ [HAEET FEE@A| - TICIF Aol 753 TPhod AON e HEwR |

162. Question: ) FIZTA 2 SENTIF FIFIA! S [FAE@H (330 @F §fE© I 7@ @?
A) (@GR 7

B) @G ST §ie

C) IPCC §f&

D) Jf&eT SGIFT

Answer: D) NG AGTFeT

Explanation: & SEIF S»> 19 ST IS0 27| SNMORT FOF K6 AqENfne 27 - S¢ (THFF,
SO T - Jfe FHFT T - S TR, Sdbd T - Jelb - 5296 (77 8 o1 $9F oo | - a3
IGFER [TAITE e IANSET SO IEF Off FfoPd T S e IFE STAIAE THT
IERREZE(OE L IIE] &1 - Montreal Protocol on Substance that Deplete the Ozone Layer| 9Ilg
FRAT A6 SeEme FE- SdDo M|

163. Question: ) TOINFONT IR TIEE TS G 5w -
A) SFEReF FIET



B) fEm3eoise oot
C) FRTGIRATAT !
D) Brafranst 3ot

Answer: C) (FRTGIEATET I0T (C) - (FRGIRATAT 6T

Explanation: ©-23f8 IIePE IRNECT fooT ¥R ! (Wl T 7|

164. Question: ) IRTAWCT a%. . fE. AN TF@T S :

A) I fygger

B) =nfa¥ fagrer

C) =nfa¥ (76

D) S51@a fodft (+, ¥ 8

Answer: C) il (56

Explanation: - 351 {333, faga 8 (& 5F9 (Flood Control, Drainage and Irrigation Projects)
IS ©-TFF FIRC A6 TSP IS IRTACTT (SIENITH AR FATE 20% ITFT I
FAfee 2T ATF| - SD>Y AT N@] MATHF *F (S TN FAeT0 AT THJT T 0% A B
(et & - I 7=, FEPT 8 o6 SR I SIFe] TN AT I AT T T
TN AN FAFTTEAT S ROTE 5930 2, (IS 1 TS o0l Jfoe (Ha e[ PpeT A7 58 I

165. Question: ) IRTCTH ST FT HT@H?

A) FRIT 8 TAFRT S
B) 9% F1RIT Sy

C) STF1RIT STy

D) TSI G Sefary.

Answer: A) F131T 8 STFRIT Seray
Explanation: - IR0 517 FFS15T {0 TG (02 fOfS SoF AHET N FHoF @A o>
FER| T ST 93 AP FRIT ST 770 | - 56 IRAECTT Seae G Y T

TSIEF TSI IRATCTH S FI I ST AT TS| - 9 ST F T4 (@85 26 TF 3
o M 932 8% 3 Mo Mol

166. Question: ) 6T (F1 (ST ACHIT IR TEAR?

A) ST
B) Prared



C) swiAtTa
DRINEES

Answer: B) fA@@g

Explanation: SIS (¥ I 3¢,000 I2F & NHI@ ARCCIN F1 I97 27| D W 515w gzt
ARTOINS FIETH i A1 AR OS | IRTECT TS ARTOINA FIETH GINFISE IE: - ASTIR, BT,
fAeTSTsId, T 3 SRR (ST IETG - NFFANEE, BIFTR, ST 3 GIFT (SeTF SAFe TY7F 3
SIS ST - PINeT (STF ARTHR MRS | - (T (NG ST T b TR X FRCOIN FI ST0S
of |

167. Question: ) MBI TI-STRIFT APAE I A A0 FIT 27?2
A) STSTT

B) g

C) (13fq

D) ST

Answer: D) HI&eT

Explanation: STTEeT 1 W12 (Sahel) - 3% I SIS0 RN MHPIF ST STRIF] A% |

168. Question: ) (FIAG STIFF SAIH 7I?

A) S®er
B) S9er
C) IR
D) SPfawETe

Answer: A) S®@]

Explanation: (FT@T a3 [f%8 a7 ©1F, 51, Svel, (Emwge], Mo 8 IYEINRS i
STfSE ST (R e SaRis 3 96|

169. Question: ) fET @1 (BN ARG “TRITE 36” RoTE HFw?

A) AR
B) JIT (13% (Lake)
C) FI¥12 2%

D) BRI 13T



Answer: A) SSSTS

Explanation: 33T IS *12(& $29S NES (HFFINE© BS?'IIQI&I 3 OIF T RIFHT 3 AN
T [TATF AR FA@ATH AO© 27| - AFHE FA©ATT FFF 2T $9¢ TEH S A -
ARIME TFEB AP - Number of Contracting Parties: 171

170. Question: ) “RAPIS” STFISFNE Qe P SIS (A (F1AG NI IMI?
A) 935 TERNEE

B) a6 =yt

C) a3f6 (7T

D) a6 =7

Answer: B) aFfG =t

Explanation: RAPIS % (3@ PARIS 331 ¥ I (6 2@ 1| Y HIETF IO |

171. Question: ) IFF a7 Ffo = (FE6?
A) RS

B) &

C) S

D) a1t
Answer: B) &

Explanation: « 'SIFg" & N(F THSE 2 - SAFT, - ST, - TS, - (FI 303101 BTz JRAT
OIE TP, FIN-TH I |

172. Question: ) (F1Ff6 IS AF2BIB NS (hydor-meteorological) ‘{(\Il‘[‘ifﬂ?r?
A) JfrS

B) Sferes

C) Fateme

D) gfiF=sf

Answer: C) B RIER]

Explanation: Q= R1G] AIBISER NET Se1s ARSI TS 557 S|



173. Question: ) (FT STSG “T1R SR (e IR F41 2J?

A) @

B) AREET GR-IHRS
C) V%I TR-9H2

D) I TR-IHRG

Answer: B) TREIE SR-HRG
Explanation: S% 33% 37 ‘TR RN Tb FIKA-CR-THRG | 4 FOAIF© FIFA-TR-SHRS -78.5°C

THOIT FT T3] (AF O ] TF FIHH ST AFMS 2| B2 97 AN BF II% J1 TR ART | TS
TaffFea, FIF-TT CIfe |

174. Question: ) ISNE AHET-THI @FF ST (FBSNEEET FEE TI2F FAT 27?2
A) CRETEIGIREET 2T

B) 3rsfe

C) SRETE! GRFE 2

D) (CERFTET 2

Answer: C) SR TRFET 3=

Explanation: - 39 ST 33 N3 F5fesTe (AFOTEET IBE N NP SO (Saae
REHES | - AP (RHONECISENS (FHIF 97 I0C (CEFERE JI AFT6 ST T T 2| (I
AT AN - I ST I ST 555 Wi |

175. Question: ) F7=F BfFTT (@ fAfFae 79219 F47 27 ©F 2T ---
A) %1 (F (Alpha rays)

B) fG1 (7 (Beta rays)

C) a5 (3 (X-rays)

D) s (9 (Gama rays)

Answer: D) sTHT (§ (Gama rays)

Explanation: fofFS M@ (05T SRRENEIET J8We 7HR@S TTIRIF AR

176. Question: ) IFGRIE FIF G (@FE06 SA50?

A) aoT
B) MRGIF AT



C) fasfFa
D) (fod 5

Answer: C) frSf#am (Nucleus)
Explanation: I3GEITG AR A& |

177. Question: ) NFEF ST (OfFF (FIISE 78 2 [P (F15T 27?2

INRIEGEIE]
B) ¥E~
C) T3
D) *NafFersiey

Answer: D) safdasa (Parkinson's disease)

Explanation: T@X 3o ¥a@a aMRAas v (ofd 3@ 4@ | - A7 (¥F e 27079 G
REIGEIGIREE NSRRI Cl

178. Question: ) fIa (F1 Tfen (FI MIAENS JAPE (737 T2

A) (F T
B) I8 =
C) ST =
D) foysr =y

Answer: C) O T

Explanation: Nipa Palm locally known as golpata, Nypa fruticans, is a member of the family
Arecaceae (= Palmae). It is a mangrove species, distributed throughout the mangroves of Asia,
Oceania and east coast of Africa. It is a trunkless palm with tall erect leaves (3-9m long). The
underground stem is a short horizontal rhizome with massive dense root system

179. Question: ) IYASE (F1F I IHTO G2
A) OIS (Troposphere)

B) SB1GISGH (Stratosphere)

C) (IS (Mesosphere)

D) ECsSe (Troposphere)

Answer: A) ©19I (Troposphere)



Explanation: IIFST (I 53¥Y TAMIE 51f3@ a5, &R 8 THOF MNF AGHE GO (V&
SRR 0@ SFATF 766 I ST FAT 2| TAT - FEIHS, SO FIGIGH, (NS, SIS 3
TS| - G-I [TFoeT IYIIE T FCTNS | T3] 3 SIS e N6 AT @
OIS NYFSTIT 92 IE TG - (379, (oMo, T3, IFAT, HG 8 I FIF52 9% I 5T 2|

180. Question: ) ST AN TSEH STRMF ToFA] FOOI & GoIS HTH FE?

A) R.0¢%
B) 0.00%%
C) 0.05%
D) 0.b %%

Answer: A) R.0¢%

Explanation: >¥-503 (Ifd, ST 8 =R

181. Question: ) IIfFSIER G MEANE FelT TF----

INREIBEIEING
) IGIEEACINE]
C) (AP FETeI
D) afSrreI

Answer: B) (I35
Explanation: GIN&d 51F — AfSF1ET61 (GNNIRA =G 1 21 Apis) (T ((TF1H) 51F —

CRFTEACTA N & — FFIer6E AT {Fw51 — afSF e Swafam — 2fbarmnm 6% smafawy
- (ASTAPTTCTH SO - AAFFTCIH |

182. Question: ) M- A (FTRMCN-T (Hepatitis-B) SRATT ATHE FIGT@ IFHJ(F T4 F
7337 &f6w?

A) vo fuEd Je&f eF e e 2@

B) a frel 2P SEHE FA® 2

C) S S I F (FI313 (HBIG) 76 fite =3

D) ST S F6IF MY SNFH 3 362 (HBIG) 16 fote 23

Answer: D) S0 SR F61E WY SIS 8 2G2S (HBIG) <16 fore 23

Explanation: s&e! 31 30 @THRGY T 1EHE 27, (@ SN 7T 782 (b% TIF V&) ATNeF @



@RS 7 28w (@yfa 8 (R MERHGS F eyefia Se3R (ws3T 27| CoT:

www.urmc.rochester.edu/

183. Question: ) (&3 (1T RG1I---

A) 297 8 FIOETL
B) House flies

C) Anopheles 311

D) Aedes aegypti 37T

Answer: D) Aedes aegypti 3
Explanation: - Aedes aegypti (Af55T Af&=01R) FHfOT I FINE (T3] RGH| - NI (N

{39 TOITR aFwTa M F Anopheles 3P| - A%=TGT AfS AFAERIFFEM IE FIAES (S5 (1T
ROI® E | $33: SR fFelF Ta, aFw-am Cra

184. Question: ) TYHIEH (T I (IO O3 AfOHT© T ---

A) TGIRGIE
B) FvNfeIE

C) 33T

D) A HITE

Answer: B) ZtPeI1F
Explanation: STNGER AIfTe aiR* AIFNSH (lonosphere) AT AfAfb© | NIANGT 3o

OGS SRR (VF SITNGES TR (Co (¥ Soo FENIGIT) X TS | ATINSE (Fo1T
25 AfeHiTe T ©- O @ 0T

185. Question: ) o 2fF= IFGH---

A) wrffaF

B) 3fF

C) F A& {m
D) smfaw

Answer: A) arffaE

Explanation: F5@e 232 agew swifam 8 siforees| fofer st amr RIS sgfas 357 Ssrrse
FE



186. Question: ) APNSF SHCIF AL AT X(ETT ---

A) RS ST
B) ¥ NEAHRG
C) RS ST
D) fSre swTst

Answer: A) TRETE ST

Explanation: J$fed SHCTE SATMRSE RET: - B - ¥0% - 0%, - R - $©%, - (AT - 0% |
ARTTT fIOEH, BT 8 TREES 5% AT AF | ARN@E IR T AFhe ST BIE=
TN 5¢% - 2% | TN: FIH-TF (TG I (IT6 3|

187. Question: ) (PG FIIAEST TG TIH?

A) (&t
B) Fe
C) o1
D) SPIEH (S

Answer: D) s[4 (68
Explanation: f&a T35 S4T9® G2 53171 A6 T(® ATFAETSH T T 432 A6 2=

AT e B3| AITIART A& @ IFIE [ 9T I | FTIIFESE e A {1 =7
T2 93 e M 9fEs 39 27

188. Question: ) 10101111 a5 1's complement (FFG?
A) 1111 1111

B) 0000 0000

C) 1100 0011

D) 0101 0000

Answer: B) 0000 0000

Explanation: IRE! T&fore IFIe AT 0 3 1 (F 1 8 o FET IwT FAE 1's complement 3T
1| ©12 10101111 95 1's complement = 01010000

189. Question: ) (1 T AT TN FI2© T?



A) TF o1F

B) (F1-afFI1e FYFeT
C) STEE ST

D) 6T BRI

Answer: D) fo@1e ®12391F (D) Optical Fiber

Explanation: - S[TGHTT HIRATE (% YF T 432 THAIY FT6 ©F | A IX@F 1@ A6 T53%0 231 -
A TJof ST ARGl L3lF FIS AN AAGFIT TRAF (Sf FAT 2T

190. Question: ) f9Ea v&GT W&y (@G fo7?

A) foa

B) &I
C) (*mal
D) fores

Answer: A) o5

Explanation: e 136 WF1= 4Tg I O 8 TIF Wa@ sfde | o, (=1 3 foa1 Ghfeis 41w |

191. Question: ) (5L 31 (Golden Mean) X(TI--

A) ST NEIRT FEE TS

B) a6 aTbia wrdfass smarg o
C) agEa 7t IR F-(Flas 1=
D) 4t 53 T31F NTIS! SIIF]

Answer: B) 936 16l wrffas snamE 9

Explanation: ‘96 53 551 NXTI6! TRE ST FAR JI FHF IET 7 0 Ares A3
(THOH HFNSEF 9376 57 F751F | 3o F4WFH (Golden Mean) J &1+ (v, farF wrffers
AfFBET|

192. Question: ) (F19 T=d 2SAARG (UNDP) TN 2881 TI6 FE?

A) 53¢
B) 59
C)So>%
D) 5539



Answer: B) 593

Explanation: - $»9 ST 2SS SPIES S2837 S0l FEA| - TSNS ST foif e Fa00 >f5
T TEY FE®| - ST - TNe] 8 AITel, THA WY, ARG N, T=o|, SIEfuRe],
RETTATO], TATSEF Jod T, FHFFTOT 8 THeT 432 (FTsTe 9% | TN 20976 5F
SIITRG|

193. Question: ) WA (I oA T4 (¥F TZ© ©IF Af---

A) 5
B) f&g.

C) Soate
D) fFg@ o

Answer: A) 59

Explanation: - 'Nihilism' <5f6a 2= [T 7= o CT- 52 frRmy| - 9% <1f6 «mieey Nihil (3@
At | I 3 fF52 1 (Nothing) | - AR JEFT XEA- T2 o JT 7 (A2 59 %7 21 -
AR TS AFT6 SRAIAT arffers e |

194. Question: ) TIfF FeANTOR FHT TS FE-

A) STTIEE BT (3
B) SIR@H [T (3@
C) FOTEH (V&

D) IR T (4

Answer: D) eENEd 51 (3@ (From education of values)

Explanation: fR37R (Y32 AN FEsTe FTHETEH fSfS 5 SO | 92 TETe JOHEH (332
AT X ARSI P15 7S FEF AF |

195. Question: ) SPTNEH (F1 e TSI TS 6w FE?

A) ST 8 STTe]
B) s@rafufzer
C) ¥%e]

D) 7SIz

Answer: A) JTST 3 ST



Explanation: - SPTN@ER SRASRCF Jife RIIES TSR frsIel [RE FE| - @, (@
SRS SIRITRCH P EIOT A1 ATFE (5 SIS sTered 561 I1 T-A o1 fIFT0TH S[RTST M 7 933
SARMRST, T2 432 TR 8 THSTH Ao JqHACE TI63 AT@F @ MG | - AT 4 FTF¢2 UNDP
ATARAE NAIMFTES IIGE FE®

196. Question: ) TN (T fACNG ITRT SPINES S3ST T01e FER?

A) TS SfR3T 8 JHF TSI

B) *TTel 3T 8 SPST

C) e afar a3k Wfes e afean
D) *Te ST 8 ST

Answer: B) TSl {537 8 SPIS

Explanation: ffami® s> ST O 3% SR STLEA ST To1Af6 TII20H I | TTT6N0
SO T fTHIRF o JfF37 8 SFIF (Governance and Development) AT a6 NG a7
FE| 92 AONG gk spTe saenfo SPrRens T FE|

197. Question: ) AT (FA SPITET S 32

A) ISR

B) T%e!

C) S_1afufzel
D) (afes =i

Answer: D) (@fes e

Explanation: STfe:T SPTNER w6 S e @1 I 512, ARG 5, SamiRe],
MIAACF, T=o!, FHFAT 3 W% TN, TFIGO], TATSTS Fog M| 389G 93 w6 SamEs
ST A3 AF 6 SATT (5T FE (6 (R (FTIATS TH 7% [TIHRET S1RT SHWEANE (F1 A3
e e SEN (93|

198. Question: ) [T (FEG TFfoq SR §3?

A) R
B) TolF

C) & I
D) SI13d

Answer: D) 33



Explanation: (FTET (BT ST (IBT SLFS STef5 ST (67 ST g T 5Tef§ 2o A | (2w
BT TES IAFTT | FFo1e NS F 55 (A1 ©F T 55 T DA J7 N (00T 97
GER

199. Question: ) (AR (FFR (F1F (TCTF AT fRETa?

A) rfIfer
B) B
C) MF J&a18
D) IFATW

Answer: D) J&a137 (United Kingdom)

Explanation: SRS BT o9 1 AfedTe] @S e (@l (F=7| - fofel e awea
SRASI I 3 WG EES | - ol Jeamena AT fwra| - ©fF (727 fF27@ 7% 'An Introduction
to the Principles of Morals and Legislation'. - 9% sIt% fefd So@sam ©=fo T3 IR FEF| - 93
TSI SN, A g MATIF SR I

200. Question: ) IR TS FE--

A) O 8 T
B) 71X 8 STATH

C) Ffedel 8 AMAfoPel
D) SoEF NISE

Answer: D) SEF NISET

Explanation: 5{& 8 TS (FH@ TR (T@IH RO P10 FE JNEE | TR TS FEF ©FT
8 W, AT 8 AT, (fePel § Aldrosol, T 3 FAEe, St 3 Sebw, AT § 7, [F5 3 MY
eyl




